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Week commencing 1/6/2020



Hey Everyone!

We hope you all had a good half term break and are staying healthy and happy.


In maths this week you will be using fractions to find the whole. For example: Find 2/5 of 25.

In order to calculate this, you must first divide the whole by the denominator, then multiply the quotient – the answer – by the numerator. This is your answer.

25  5 = 5
5 x 2 = 10
2/5 of 25 is 10.


For reading, you will have sections of mock SATs papers, along with some questions that focus on 3 mark answers.

Don’t forget, if you need us we are still here for you – just email the Year 6 email address and we will respond as soon as we can!

Have a great week – you are all doing a super job!



















































Friday 5th June 2020



Spellings

Get someone in your house to test you on the spellings below. Remember to write your answers in your neatest handwriting


existence
explanation
familiar
foreign
forty
frequently
government
guarantee
harass
hindrance






































Reading
Art in Nature
Look at this photograph of a sculpture made by an artist called Andy Goldsworthy.
 
	[image: ] 
	He has made the shape out of leaves from a horsechestnut tree. He has used thorns to hold them together. The sculpture is in the woods where it was made.


Andy Goldsworthy: Inspired by nature
All of Andy Goldsworthy’s sculptures are like this, made out of the things he finds in nature and nothing else. He only uses fallen or dying materials and never takes them away from where he finds them.
He builds towers or arches with flat stones. He weaves with branches. He makes patterns out of sticks and plant stalks.
He doesn’t carry a bag of tools and he doesn’t buy his materials. Instead, he goes empty-handed to a suitable place and works with nature. He often starts work hours before daylight.
Instead of using glue, he uses the early morning dew or frost. Instead of using nails or pins, he uses thorns.
Have you ever made a daisy chain or floated leaves down a stream? Well that is the kind of way Andy Goldsworthy works. He is an artist with the curiosity of a child and a deep understanding of nature.
Artists like Andy Goldsworthy are called ‘environmental sculptors’. This means they make sculptures without causing any damage to nature or the environment. It is a different way of working from most artists.
 









	Some more examples of Andy Goldsworthy’s work
[image: ] 
Dead but still standing
Made with plant stalks from the previous year.
[image: ] 
Late evening calm
Made from poppy petals held with
water to a horsechestnut leaf.
[image: ] 
Balanced Slates
	Andy Goldsworthy
[image: ] 
Some facts
♦      He was born in Cheshire in 1956
but grew up near Leeds
♦      He went to Bradford and Lancaster Art Colleges.
♦      He has lived in Scotland for the past 11 years.
♦      He is married with four children
♦      His only hobby is fishing


 



Try it yourself
 
	Anyone can have a go at being an environmental sculptor. All that you need is a place which has lots of interesting plants, trees, earth or rocks.
A visit to a park, wood, forest, rocky place, the beach or even the school playground, will provide all of the materials.
Here are some suggestions of things to make and do, using nature’s materials.
•    Try weaving long grasses into something.
•    Use thorns to attach twigs, plant stalks and leaves into patterns on the ground or along a tree trunk.
•    Arrange loose, large pieces of wood or branches in an interesting and unusual way.
•    Float leaves, twigs or dying flower petals on pools, streams or puddles.
You might like to keep a record of your sculpture.
Take a photograph or do a simple drawing of the sculpture and write a description of it.
Think about:
– how it is arranged;
– what material the sculpture is made from;
– how the sculpture fits with its environment;
– a title for it.
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1.      Tick the correct option to complete the sentence below.
Andy Goldsworthy's work comes from
 
	 
	Tick one.

	cities.
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	nature.
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	books.
	[image: ]

	museums.
	[image: ]


1 mark
2.      (a)     What does Andy Goldsworthy do with the dew, frost and thorns?
______________________________________________________________
______________________________________________________________
1 mark
(b)     Why is it important that he uses the dew, frost and thorns instead of other materials?
______________________________________________________________
______________________________________________________________
______________________________________________________________
2 marks
3.      He is as artist with the curiosity of a child...
Give the meaning of the the word curiosity in this sentence.
___________________________________________________________________
1 mark
4.      Why does the article ask the reader:
Have you ever made a daisy chain or floated leaves down a stream?
___________________________________________________________________
___________________________________________________________________
2 marks


5.      (a)     Which section gives you information about Andy Goldsworthy’s life, rather than his work?
 
	 
	Tick one.

	Try it Yourself
	[image: ]

	Examples of Children's Work
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	Some Facts
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	Some More Examples of Andy Goldsworthy’s Work
	[image: ]


1 mark
(b)     Explain why the article gives this information about his life.
______________________________________________________________
______________________________________________________________
1 mark
Look at the information Try it Yourself to help you answer these questions.
6.      Float leaves, twigs or dying flower petals on
pools, streams or puddles.
         Why does the article suggest that the flower petals should be dying?
___________________________________________________________________
___________________________________________________________________
2 marks









7.      (a)     How does the article suggest you could keep a record of any sculptures you might make?
         Give three ways.
1. ____________________________________________________________
2. ____________________________________________________________
3. ____________________________________________________________
1 mark
(b)     Why might you want to keep some sort of record of your sculpture?
______________________________________________________________
______________________________________________________________
1 mark
8.     After reading this article, would you like to have a go at being an environmental sculptor yourself?
 
	yes
	[image: ]
	no
	[image: ]


         Explain your answer as fully as you can, using the text to help you.
___________________________________________________________________
___________________________________________________________________
___________________________________________________________________
2 marks
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PE

Lots of people have been uploading workout sessions online for children to follow at home. Think about all the different exercises you have done this week. Create your own fitness workout children can do at home- make sure it lasts for at least 15 minutes. You could watch some of the videos below for inspiration.

https://www.youtube.com/watch?v=gVN5Lg-q5zA


https://www.youtube.com/watch?v=ymigWt5TOV8

https://www.youtube.com/watch?v=mhHY8mOQ5eo
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1        Award 1 mark for: nature
1 mark
2        (a)     Award 1 mark for any answer which refers to these materials as being the adhesives which hold Goldsworthy’s sculptures together. Also accept direct copying from the text.
•        Instead of using glue, he uses the early morning dew or frost. instead of using nails or pins, he uses thorns because the dew and frost are wet 
•        he uses them to stick things together and the thorns have sharp edges so he won’t have to use sticky tape
•        he uses them to stick things together
•        he uses them as glues
•        Andy Goldsworthy uses them to hold the patterns he has made together
•        he uses them to make his sculptures
1 mark
(b)     Award 2 marks for answers which give a full explanation of how Goldsworthy’s approach is one which requires that he only use natural resources.
•        he uses them so that he can work with nature and not use man-made things
•        instead of using glues, nails and things, he uses dew, frost and thorns because they are all natural because all of his sculptures are natural and he doesn’t want to use anything that might cause damage 
          Award 1 mark for a simple explanation or for a literal interpretation.
•        so that he doesn’t damage anything
•        because he is an environmental sculptor
•        because you don’t get glue and nails in forests
up to 2 marks
3        Award 1 mark for an answer that refers to inquisitiveness.
e.g. It means he wants to find out.
He wants to know.
1 mark
4        Award 2 marks for answers which suggest the question is an invitation to the reader to think more about Goldsworthy’s work in terms of their own behaviour.
•        it is the kind of thing lots of people might have done and so it helps you to understand what Goldsworthy does
•        the writer wants to try and make the reader think about environmental sculpture for themselves
          Award 1 mark for answers which give some indication of this idea.
•        to make you think
•        because lots of people have actually done that
up to 2 marks
5        (a)     Award 1 mark for: Some Facts
1 mark
(b)     •        because you might want to know more about him and his life so that you can do the same things that he did
•        so that everybody can get a good idea of what kind of a man he really is and why he is so inspired by nature
•        it tells you more about him as a real person
•        because he has an interesting life and job
•        it makes him seem like a more interesting person 
          Do not accept
•        it makes the article more interesting
•        so you know more about him
1 mark
6        Award 2 marks for full answers which provide an explanation in terms of the ideas underlying environmental sculpture; the processes and materials should not damage nature and therefore only fallen or dying materials should be used.
•        because if you pick living petals you will kill the plants. If you use petals that have fallen off the plant then you won’t spoil the environment
•        because if you take living ones then you are going to be damaging the flower and nature
•        because you should only use natural materials which are fallen or dying so that you don’t cause any harm
Award 1 mark for partial or literal explanations.
•        because you can’t use living things 
•        because then you don’t kill the plant
•        because environmental sculpture is about using dead things
•        because you only use fallen or dying materials
up to 2 marks
7        (a)     Award 1 mark if all three of the following correct responses are given:
•        (take a) photograph
•        (do a simple) drawing
•        (write a) description
1 mark
(b)     Award 1 mark for answers which address the ephemeral nature of environmental sculpture and/or the permanency of such a record.
•        so that you will always have something to remind you of your sculpture
•        because a photograph or picture will last forever
•        because environmental sculptures do not last for very long but you can keep a record for a long time
1 mark
8       Award 2 marks for answers in which the opinion (either yes or no), is supported by reference to an aspect(s) of the text or its overall extent of appeal, and an explanation of its relevance is given. For example:
•        yes, because I like making things, especially with nature and you don’t have to pay for anything
•        yes, because you don’t spoil the environment and it would be fun
•        yes, because it could be great to try using thorns for pins and dew for glue
•        no, because I think it could be hard work and wouldn’t like to get up hours before daylight every day
Award 1 mark for simple answers which depend on personal likes/dislikes, but which have only a general relationship to the text.
•        no, because I am not into nature much
•        no, because you would have to be in the cold all day 
•        yes, because I would like to create things like that 
          Do not accept:
•        yes, because it’s interesting
•        yes, because I would like to be a sculptor myself
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1) Which bar model has the greater amount shaded?

How much more is shaded?
1.92m
|

1.68m
I

2) Find the following fractions of amounts. Remember to give the unit of measurement in your answers.

%of2m= %ofhkm= %of3l= %of3.6kg=

3) At the school sports day, the Green team won % of the points, the Blue team won % of
the points and the Yellow team won 17—5 of the points. There were 60 points awarded in
total. How many more points did the green and blue teams win combined than the
yellow team?
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1)	Which bar model has the greater amount shaded?  

How much more is shaded? 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2)	Find the following fractions of amounts. Remember to give the unit of measurement in your answers. 

 

 

 

 

 

 

 

 

 

3)	At the school sports day, the Green team won 

1 

5

 of the points, the Blue team won 

2 

6

 of 

the points and the Yellow team won 

7 

15

 of the points. There were 60 points awarded in 

total. How many more points did the green and blue teams win combined than the 

yellow team?

1.92m

1.68m

A

B

8 

20

 of 2m =

2 

5

 of 4km =

9 

50

 of 3l =

6 

9

 of 3.6kg =
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1) Isthe statement below true or false?
The shaded part of bar model B has a value of 190m.
Remember to justify your answer fully.

1.5km
IS : N

2) Isthe statement below true or false?
2 3 5
2 0f £1368 > 2 of £1755 < 2 of £1140

Remember to justify your answer fully.
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1)	Is the statement below true or false?  

 

The shaded part of bar model B has a value of 190m.  

 

Remember to justify your answer fully.   

 

 

 

 

 

 

 

                                                                                                                                                                                                            

                                                                                                                                                                                                            

                                                                                                                                                                                                            

2)	Is the statement below true or false?  

 

2 

3

 of £1368 > 

3 

5

 of £1755 < 

5 

6

 of £1140 

 

Remember to justify your answer fully.  

1.5km

A

B
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1) Give the missing numbers in each of these calculations:

gof3m=%of10m

gof 0.4l = % of 0.71

1 0f £30 = § of £24

§0f42=%0f27

2of60=80f72

% of 0.8kg = 2 of 2kg

2) A farmer is planting four different fruit crops - strawberries, raspberries, blackberries and cherries - on some of his
fields. Each field has an area of 800m?. He wants to make sure that each crop takes up a whole number

of metres squared.

Using your knowledge of fractions, show the farmer five different possibilities for
splitting up his differently sized fields and then show how many metres squared

each of his crops would take up.

Can you use a fraction with a different denominator for each section?
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1)	Give the missing numbers in each of these calculations: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

2)	A farmer is planting four different fruit crops - strawberries, raspberries, blackberries and cherries - on some of his 

fie

l

ds. Each fie l d has an area of 800m². He wants to make sure that each crop takes up a whole number  

of metres squared.  

 

Using your knowledge of fractions, show the farmer five different possibilities for 

splitti

n

g up his differently sized fie l ds and then show how many metres squared  

each of his crops would take up. 

 

Can you use a fraction with a different denominator for each section?

 

6

 of 3m = 

1 

4

 of 10m

3 

 of 42 = 

2 

3

 of 27

 

8

 of 0.4l = 

1 

2

 of 0.7l

4 

5

 of 60 = 

8 

 of 72

1 

 of £30 = 

1 

8

 of £24

1 

2

 of 0.8kg = 

2 

 of 2kg
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Answers

1) Barmodel A has 72¢m or 0.72m shaded and bar model B has 12¢em or 1.12m shaded.
Bar model B has 40cm or 0.m more shaded than bar model A.

2) & of 2m = g0cm or 0.3m o5 of 3L = S4oml or 0.54]
% of 4km = 1600m or 1.6km % of 3.6kg = 2400g or 2.4kg

3) The Green team won 12 points.
The Blue team won 20 points.
The Yellow team won 22 points.
The combined score of the Green and Blue team was 32 points, which was 4 more points than the Yellow team.

1)

1.5km
|

A 300m 300m 300m 300m 300m

B |6om|éom|som

This statement is false. The total value of bar model A is 1500m. As the model is split into S equal sections, we

can see that each section must have a value of 300m. Bar model B is equal in size to two sections of bar model A.
Therefore, the whole model must have a value of 600m. Bar model B is split into 10 equal sections so each section
must have a value of 60m. As three of the sections are shaded, the shaded part of bar model B has a value of 130m.

2) The statement is false.
2of £1363 = £412
2of £1755 = £1053
2 0f 1140 = £950
Here is the corrected statement:
2 of £1368 <% of £1755 > 5 of £1140

1) £of3m =2 of 10m 2 of 0.41 = 3 of 0.71 @

10f£30 = 5 of £24 3ofu2=30f27
2 0f 60 = 5 of 72 1 5§ 0.8kg = & of 2kg

2) Answers will vary.

2

2 _ 2 1 _ 2 1_ 2
% = 100m 3= loom 7= 200m

Raspberries Blackberries Cherries

3 = 400m*
Strawberries
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